== —_ s L == L sf3e R = = H T bl = §; S FEE - [ ZIEE ol Zr s 5i
20226/ WEMEEXBEFUREIL WARH BB FUHE K rggggfg,:F;ff;?;;4;1%?&32{9’;?&;;;;;%;@gg’giigg&E”2' VEANTASE  gERRE4 _
4 A AT 18] E3E = 54 ETIEI E3 5 = 68 = 78 ETIE| EZT = 8H ETIE| E3E = 9H ETIE EZ =
(72 Bl (e $5E0EIE EEAES B [hED LEEGE S EFE LS| EEAER =R [ hEE LEEGENE] S B [#ED YRR = LEE HEEIEEIE
& 1|18 1 [ K i ES A HES
+ 2 | A 2 | K 2 | £ X 2 | &
=] 3 | 3| £ 3| A 7K 3|+
A 4 | & 4 | £ 4 | B S 4 | H
X 5 | 5 | B 5 |k & 5 | A
7K 6|2 6 | A 6 | K + 6 | X
A 71t 71K 71K =] 7 1K
% hERX FHE 8 | Kk 8 | & A FRES
+ 9| 8 9 | K 9 | + X 9 | &
H 10| X INES 10 H K 10] &
A 11 ] K 11 ] £+ 11| B Lo 11| 8
PR 12] K 12| B 12 X o 12| B
7k 13| £ 13| A 13 ] K + 13| X
X 14| + 14 | K 14| K =] 14 | /K
& 15| B 15 | K 15| £ A 15 | K
T+ 16| A 16 | K 16] £ Py 16 | &
H 17| & 17| £ 17| H K 17| =
A 18] K 18| = 18] # g 18| H
X 19] K 19| 8 19] X oo IpER 19|
7K 20| & FEEE 20| A 20 | /K + 20 [ &
X 21] = 21| A 21| K =] 21| K
£ 22| B 22 | k 2| & mER A 22| K THEEER
* 23| A TREEE 23| K 23| + PR 23| %
5] 24| & FREEE 24| & HHEREE 24| H 7K A 24| +
A 25 | K 25| + 25| B ES 25| H
X 26| K 26| H 26 |k & 26 | B THEEE
7K 27| & 27| B e 27| K + 27| X FHEEE
A 28| 28 |k HEXEE 28| K 5] 28 | K
o 2| B 29 | K 2| % A 29[ K
+ 30l A 2 30| &K 30| = RERAE X 30| &
31| k] 2 31| B 7K
EHE S FHE =& EHE S FHE =& FE S FE S
HHREH 0 0 EHAEH 6 0 EHREH 10 0 LHAREH i 0 HHREH 7 0 EHAEREH 4 0
KEREH 10 0 KBEAREH 11 0 RHRZEH 7 0 RBEAREH 6 0 AHRZEH 9 0 KE®REH 10 0
TH SRR R 20 #DIV/0! T BRI 2.0 #DIV/0! THEE R 15 #DIV/0! T B 2.0 #DIV/0! T E BRI 2.1 #DIV/0! T H R R 1.8 #DIV/0!
KEEEERIEY:  #DIV/0! #DIV/0! K B SE BB RS R 1 2.0 #DIV/0! A B E B SR Y 20 #DIV/0! K B AR R 1y 2.0 #DIV/0! KREEEERIER:  #DIV/0! #DIV/0! KEEEERITEY:  4DIV/O! #DIV/0!
108 FTEl ES - 118 ETE ES - 128 ETE S - 1H EHiE ESH - 2H AHiE S - 3H &l ESH =
EHEA ol s HREH EIE wEg| TP ERIE B EEE G R il B | % rETe Rkl EREE ol s REXT ERE G S HREH FHAKER
1]+ 1]k [HES I 1 11K 1] K ETIE
2 | B 2 |k 2 [£] 2 2 2 [ X 2 [ K
3| A ES Ea 3 3 & 3 | & 65
4 1K 41 £ 418 4 4|t 4|t
5 |k 5| L& 51 A 5 5| B 518 =45
6 | K 6 | H 6 | k] 2 6 RS 6 | A 6 | A
11 % 71A8 7 1K] 2 7 7k 71X 0
8 |+ 8 |k 8lAK] 2 8 8 | K 8 | K ]
9 | H 9 | K 9 l£] 2 9 9 | K 9 [ K KBIAEH
10 | %1 10] K 10| = 10 10| £ 10| £ ETE
1]k HES 11] B 11 11| £ 1]+
12| K 12] + 12[B] 2 12 12| B 12| H 105
13| & 13| B 13 x] 2 13 13| B 13| A
14| £ 14| A 14 k] 2 14 14| K 14| K e
15| £ 15| % IHES 15 15| 7k 15 | K
16| B 16 | 7K 6]l 2 16 16 | & 16 | K O
17| B 17 K 17| £ 17 17| & 17| &
18| 18| & 18| 8 18 18| + 18| +
19| K 19] = 191 A1 2 19 19| B 19| B AKEBEE
20| K 2] 8 20 | & 20 20| A 20| B ETE
EES 21| B 21 k] 2 21 21| K 21| #
2|+ 22| & 2| & 2 22 22 | K 22 | K 170
231 B 23| #1 23| &] 2 mEAR 23 23| 23| K
24| B 24| K 241 £] 2 24 PAES A ES Ed
25|k 25| £ HEREE 25| H 25 25| £ 25| =
26 | K 26| + 26| AL 2 26 26| H 26| B O
27| K 27| B 27| K 27 REED 271 A BERER 27| B
28| & 28] A HEREE 28 | K 28 28 | Kk BERER 28 |
29|+ FRE 29 | & HREE 29| K 29 29 | K
30| B 30| B 30| & 30 EEER ES
31 ] H ®£L<q 31 ] + 31 Z= = R ES B
e =i BT =i =i [E] ES AT =ig ETIEI ES
THREH 1 0 THAREH 3 0 THREH 0 THAREH 4 0 THREH 6 0 FHAZEH 17 0
RHARZEH 7 0 RHAZEH 10 0 RHARZEH 6 0 AB#xEH 11 0 RHARZEH 9 0 AHRZEH 9 0
T HEBERT Y 1.8 #DIV/0! T E BRI 2.0 #DIV/0! THE B R 20 #DIV/0! T E B R 1Y 2.0 #DIV/0! T E BRI A 20 #DIV/0! Bl=brgolic R 2.0 #DIV/0!
1K BB BRI T 25 #DIV/0! KEEEHERTY  4DIV/0! #DIV/0! 1A BB TSR 1Y 2.0 #DIV/0! KBESEMTY  4DIV/0! #DIV/0! KEEEERTY  #DIV/0! #DIV/0! KEEEERITY:  4DIV/0! #DIV/0!




